1088 ERR=Y PREFIRETRET &£/ 4
- T RR2LFCERFLECCH-)
HERY /L) PIARIFRIGSEE° 1548 ¢ IR /(R % 8 %)
ARRY RTH)ATRRY GTH)/ % AR )+ 3 RY RTH)
1 ¢z ﬁumiﬁﬁ»g?ﬁﬁ'“TP°
2. ¢ 7 ’fﬁi" =
3. # % & £ 37:5,000~10,000 ~ (- # &+ & # 5 %)
4. W* %7 €% 1B} iﬁ 1,000 ~ -
- BFREREFRFE (Z8-)
(BEFE 2%~ 253 2115 - L)
L o
- EFa AR TR 29 30% -
Sz EBRAARYE T 30%+E ) E I A

P}a«kﬁ;:" =X o
3ﬁ§££ B: - #%:10,000 ~ ; = ~ = #&%:3,250 ~ o
D ORTUARAY BEI R ERLECEA-)
1.¢ —A_F]ﬁﬁg,

(1)"5 ’F ?‘li EP T ?‘—'T‘i‘g % ® ou@
ea;mﬂ;&]ﬂ \jﬁ——)-]_&]t‘ \%fra‘\@]t’ \ﬂ]rfr’“];ﬁ]:’ N ‘3‘\\1,]}&]\:J N “;'\}f-]-y[&]c’ N
BERY CBERY CFFRY 0 PR kY CBRFY
PiEg e ﬂfr;gﬂ ~FTR B P 5 15 R
(2)- # =i Mw‘ F X FTEE 25 30% o
B ~ZEx b ARIET 30%+HEHF Y X5 704 0+ +E | #01F Hko
¢ ;P :(ﬁi;:': =X o
3.4 & £%7:10,000 ~ -
D ART B BPUARNFTAPITARF -FE2C - TEERT L
T AR ERAT R T RA(R T BN FD) TS (R T B4 D)
PR ARz 2Ry 24
AP ES B EGRm R R R

5B —F{ :2,000 ~/=x 1A4B ;ﬁ‘ :8,000 ~/=x 2A3B jﬁ :16,000 /=%
3A2B "FL{ ;28,000 ~/=x  4Al1B "FL]’ 148,000 ~ /= 5A 'ﬁ :60,000 ~ /=t
= ‘f” el d o
gL # A R ELFE S RB I - p 2L EERA N P R E

Ao
fiﬁ‘”fri CEREFETE LA ERE(MEERT B Ao AT AR E 500 &)



